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B.A. T.Y. (Sem-VI)
1204A Sociology - XV Social Disorganization in Contemporary India

Time: One Hour Max. Marks: 25

Instructions
All Questions are compulsory

1 Which is main reason of domestic violence?

T (8= 77T Fr Fvr w1 ?
(A) literacy (B) Superstitious (C)poverty (D)Patriarchal Family

2 During which Period the right of women to Education was taken away.
FIT FATTHIT (AT (STaA=T ST Feer e ?
(A)Ancient Period (B)Modern Period (C)Mediaeval Period (D)Veadik Period
T #eS AHE FS T e TRF TS
3 Dowry Prevention Act was Implemented in India in Year.
AT AT ATAT & 8T Sida e fA = HAATHATTUT HTeAT ?
(A)1965 (B)1961 (C)1974 (D)1980
EARE S 9°%2 R 9%Ce
4 The miss use of Position for personal benefit is known as....

FFINTA FATHIST TaMET §ETINT ST Fg ol & ?

(A)Corruption (B)crime (C)Reward (D)Brilliancy
TSI = TET g

5 who is the pioneer of Naxalism moment?
TG TATAET GEITTH HIUT AE?

(A)Charu Mujumdar (B)Virappan (C)Prabhakaran (D)Bhidranwale
TAE AR fareaT TR IGEEEI

6 When Naxalism moment Started from....
THAATET TB5dE HUAT ATAT & HTAT ?

(A)1970 (B)1980 (C)1990 (D)1967
9%\90 ’Ge ’%e 2°8R\9

7 which name is related to Punjab Terrorism?

GATET SeITaaTarsT Gafed flurd A1 31 ?

(A)Jasbirsingh (B)Virappan (C)Prabhakaran (D)Bhidranwale
AT fawegor MR BlACEI

8 Who is the First Chief Minister of Joint United Maharashtra?
T FENTSEE T qEHET A ?

(A)Shankarrao Chavan (B)Ashok Chavan (C)Vasantrao Naike (D)Yashwantrao Chavan

9 What is the reason of high ratio of population in India?
HATATA AT EeAT ATGET 3= diad< & i ?

(A)Child Marriage (B)Low mortality (C)Lack of Entertainment (D)AIIl of above
EISIEELES FH =TT TR ST ST FoT 99

10 In which District of Maharashtra has the highest population density?

(A)Pune (B)Nagpur (C)Nasik (D)Mumbai
qor AT RUSED qag
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11 During in which Prime Minister period “Operation Blur Star” carried out?

FAT TATHTIT=AT FA R B AT & T HTA ?

(A)Rajiv Gandhi (B)Indira Gandhi (C)V. P. Singh
BRI glRar T srar.

12 When was Indira Gandhi Assassination?
ERT T T goecAT T AT ?

(A)1980 (B)1990 (C)1982
3%ce %o 2°ER

13 What are the consequences of Dowry system?
BT Tg TR 0T ?

(A)Family Disorganization (B)Suicide (C)Indebtedness
Fed faeT g AT FST TSI

14 what law gave women the right to Divorce?

A T Heeqe™=T AT AT FTTH Fearar?

(A)1965 Act (B)1960 Act (C)1970 Act
9% %Y =T FMFaT 9° %o dT dFal 9290 T FIET
15 India’is ..... Country.
WA ... ST 38
(A)Developed (B)Underdeveloped (C)Undeveloped
[EEICKE [EERErIEE EICERIIE
16 What are the features of Indian Population?
AT ATREE T IT9rse o 2
(A)Large Size (B)Population Growth (C)Birth and Death Rate
HTeT AT AREAT AT ST AT g &7
17 When is International “Woman Day” celebrated?
STTaa ATEAT & FET AT heAT ST ?
(A)9 March (B)12 March (C)10 March
° AN 92 AN 9o AT

18 The Property that a man gets from his wife or family at the time of Marriage is called as..
faamar=aT a8 =T AN T AT Featdhs T Mesuer i Fure ... &

(A)Dowry (B)Donation (C)Grant
ger JURTY HIEH

19 Where is Thermal Power station in Marathwada?
AYEATSTITT JHA Ta¥ S TS 28 ?

(A)Nanded (B)Beed (C)Parli v
qies as T (@)

20 What rights deed woman get by 1956 Act?
9° Y & =T FARIT HIEATT HOTAT AT fFearer ?

(A)Education (B)Expression (C)Legacy
foraror EIREEa aEr

21 which is the fastest growing city in Asia?
SATTET SS[Are ard a3 aTeuITy. I8 AT ?

(A)Pune (B)Nagpur (C)Delhi
qur AT et

22 what is the name of industrial area in Aurangabad?

SAATETE T AT aETE A AT A ?
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(D)Manmohan Singh

e iy

(D)1984
N1

(D)all of above
T q9

(D)1956 Act
9° 4§ AT AHRT

(D)None of above

RIREIE I

(D)AII of above
O q9

(D)8 March
C AN

(D)Begary

(D)Jalana
ST

(D)None of above

I I ATE

(D)Aurangabad
ArTETE



(A)Waluj
qredst

(SN

(B)Adul
HSAD

2

23 In which state Highest literacy in India?

VAT ST AT qard ST araddr =48 ?

(A)Maharashtra
HENTSE

24 One of the following proposed the theory of population?

|TEATET Tl 0T AThE =T T qiser 31g ?

(B)Punjab
ENIC)

(A)August Compte (B)Max Weber
AT FFT Heg 997

25 Consequences of population growth?
ATREEATATG = TROTH 0Tl ?

(A)Unemployment (B)Poverty
EET s
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(C)Bhosari
Gk

(C)Kerala
Eacy

(C)Thomas Malths
JTHE AT

(C)Aand B
s efor

(D)Bhandup

(D)Haryana

gl

(D)Carle Marx
A ATF

(D)None of above

I I ATE



